Linear sort

The government of ProbaCity has heard of promising advances from the linear sorting department of AlgoLand and they
are doing everything they can in order to slow down the spread of the news about the algorithm. As the head of security of
AlgoLand, you want to ensure that a message about the new algorithm can be sent to the National Computer Science
department.

In order to achieve that, you count on an extensive network of undirected roads and messengers. Each road connects two
cities and can only be used to transport a message if at least one messenger is assigned to it. That is, to be able to send a
message from city ¢q to city ¢,, there must exist a sequence of cities eg, ¢, - . ., €4, such that for all ¢, (¢;, ¢;11) or (€41, €5)
is a road that has at least one messenger assigned to it.

One of your sources warned you that ProbaCity plans on kidnapping & of your messengers. Your job is to assign
messengers to roads such that no matter which messengers are kidnapped, you can still send a message from the linear
sorting department, in city 0, to the National Computer Science department, in city » — 1. However, in order to not favor
any particular road, you must assign the same number of messengers to every road. Can you compute what is the
minimum number of messengers that must be assigned to every road?

Input
The first line of the input contains the number £ < 30 of test cases. Each of the ¢ test cases is described as follows.

¢ It starts with a line that consists of three integers n m x, separated by a space. They denote
* n, the number of cities in AlgoLand (1 < n < 200);
* m, the number of roads linking pairs of cities (1 < m < 500);
* z, the number of messengers ProbaCity plans on kidnapping (1 < z < 104).
e Each of the following m lines contains two integers u v, separated by a space, with 0 < u, v < n representing the
different roads in the network.



